MRBERNE (7H—HRILE)

1. #iE= RYLZREHNI1=v k |

2. %= PUZ-ZRP112 - 140KA7

3. HEExT (K158
(1#[/EE GBEHES)
(2)7vh—RIL b+

DBAK
@44 X - ik

@1 XL Y OHMEE (FFREICK DUTEE)
ORBERZEEABADIRY ZRTDRAOT o h—HRIL FOBRAHK

(FEPIELYKBBELETOES
(4)REFTBAAMDHT=RIL RSV

(B)EET HAMMSATzARIL FRLMSEIFEDFE TOERE

W= 112 ke

N4 R

M0 R

A= 78 Jmm’= |78 x10°m’
el 2 R

Hg= 555 mm= m

L= 370 mm= | 0.370 |m

Le=| 180  mm(Lg<L/2)= |0.180 Im

4. REGE (BREONMERAUT2HBZEERAALTEL)

(1) BEt KT RE
(2) At AMEREE
(3) BEH AT
(4) BEt AT IR

(5)7rh—RIL bD3liRA Rb=

()7 vHh—RIL FDEAWA
(7)7oh—RILFZETBIEHE

@BIEREHE

QEAMIEHE
QBIRETAMERBICS T 5158
t=12 L. fts’ Sftd & Efts=fts’

(8)7vh—IL FDIETE
D7 vh—RIL ORI E
@avy)—trOES
@RI FDEARSE
@FAEBIRAE

K= 10
Kv=Kh/2=
Fh=Kh-W-9.8= N
Fyv=Kv-W-9.8= N
Fh-Hg-(W-9.8-Fv)-Lg

e =/ 6897 N
Q=Fh/N=| 2744 N

RILE(SSA00)DEFEBIRIES ft

0 =Rb/A= MPa  <ft=176MPa
RILE(SS400)DEFE L AMIEN fs
T=Q/A=| 35  |MPa  <fs=102MPa
fts'=1.4ft-16 T = MPa
fts' Dt & Efts=ftTHHNDT  fts= 176 MPa
o= 88 MPa < fts= 176 MPa
= BHEMIBERTVN—
= 120 wm= [ 0120 [m
=80  mm= [ 0080 |m

Ta< 7600 | N > Rb= | 6807 N
UEDRIHFEREYT v h—RIL MI+HRIBEEET B,

ARV FOHBISHES L VT o A—RIL bOSERFASHRFEL. [EERMBTREKE - ETIEH2005FEMR] 12& 5.

1050 330
< X > ELHE
A
I He= 555 mm
Lg= 180 mm
. X= 660 mm
1] G & G
T ks
L= 370 mm
ol
=
L 600 L] _— =
< «—=>
< 370
1 N

PUZZRP112KA7-TSA



